6406531885563. ¥ Weak entity sets are represented by a double rectangle symbol.

Sub-Section Number : 11
Sub-Section Id : 64065380431
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 345 Question Id : 640653564066 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1

Question Label : Multiple Choice Question

What is the percentage of space utilization in RAID 1?

Options :
6406531885601. * 100%
6406531885602. ¥ 50%
6406531885603. #* 75%

6406531885604. * 25%

Business Analytics

Section Id : 64065338330
Section Number : 13

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15

Number of Questions to be attempted : 15

Section Marks : 45

Display Number Panel : Yes



Group All Questions : No

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 64065380432
Question Shuffling Allowed : No
Is Section Default?: null

Question Number : 346 Question Id : 640653564067 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 0

Question Label : Multiple Choice Question

THIS IS QUESTION PAPER FOR THE SUBJECT "DIPLOMA LEVEL : BUSINESS ANALYTICS
(COMPUTER BASED EXAM)"

ARE YOU SURE YOU HAVE TO WRITE EXAM FOR THIS SUBJECT?
CROSS CHECK YOUR HALL TICKET TO CONFIRM THE SUBJECTS TO BE WRITTEN.

(IF IT IS NOT THE CORRECT SUBJECT, PLS CHECK THE SECTION AT THE TOP FOR THE SUBJECTS
REGISTERED BY YOU)

Options :
6406531885605. ¥ YES

6406531885606. * NO

Sub-Section Number : 2
Sub-Section Id : 64065380433
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 347 Question Id : 640653564069 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

What is the satiating price for a Constant-elasticity price response function?

Options :

6406531885611. # Zero

6406531885612. ¥ Does not exist
6406531885613. # Equal to the Market size

6406531885614. # Can be anything

Sub-Section Number : 3
Sub-Section Id : 64065380434
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 348 Question Id : 640653564068 Question Type : MSQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Selectable Option : 0

Question Label : Multiple Select Question

What does the term “Multicollinearity” refer to? (Select all that are applicable)

Options :

6406531885607. * The dependent and independent variables are not-related
6406531885608. * The dependent and independent variables are linearly related
6406531885609. # The dependent variable is linearly related to another dependent variable

6406531885610. ¥ None of these

Sub-Section Number : 4



Sub-Section Id : 64065380435
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 349 Question Id : 640653564098 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

What is the productive efficiency frontier?

Options :

6406531885656. # It is an aspect of economic efficiency focussing on maximizing the output

under given constraints

6406531885657. ¥ Productive efficiency frontier does not worry about optimal allocation, or

choice of products
6406531885658. # Effective usage of technology for allocating resources optimally

6406531885659. ¥ Consists of all combinations of outputs such that the production of one
product cannot be increased without sacrificing the output of the other (without any change in

technology)

Question Number : 350 Question Id : 640653564099 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Correct Marks : 2
Question Label : Multiple Choice Question

Let the objective function of the DEA problem for the DMU k& be

Maximize: yixOwx + yxOx +y3Os T . .. ymOn

Which is not a constraint for the DEA problem

Options:



6406531885660. ¥ Normalizing constraint for the denominator
6406531885661. ¥ DMU k cannot have an efficiency of less than 1
6406531885662. # Non-negativity constraint for the decision variables

6406531885663. # None of these

Question Number : 351 Question Id : 640653564101 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2

Question Label : Multiple Choice Question

In DEA, we make inefficient DMUs efficient by:

Options:

6406531885668. # Moving horizontally towards the efficiency frontier
6406531885669. # Moving vertically towards the efficiency frontier
6406531885670. * By moving towards Hypothetical Composite Unit (HCU)

6406531885671. ¥ Includes Moving horizontally towards the efficiency frontier,Moving vertically
towards the efficiency frontier & By moving towards Hypothetical Composite Unit (HCU)

6406531885672. # Only Moving horizontally towards the efficiency frontier and Moving vertically

towards the efficiency frontier

Sub-Section Number : 5
Sub-Section Id : 64065380436
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 352 Question Id : 640653564097 Question Type : MSQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 2 Selectable Option: 0
Question Label : Multiple Select Question

What kind of data is unsuitable for performing the conjoint analysis using the Statistical or Linear

Regression Approach?

Options :

6406531885652. * Consumer Choice Data is Ratings
6406531885653. ¥ Consumer Choice Data is Pairwise Comparison
6406531885654. ¥ Value of the attributes are continuous

6406531885655. * Value of the product attributes are categorical

Question Number : 353 Question Id : 640653564100 Question Type : MSQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 2 Selectable Option : 0

Question Label : Multiple Select Question

There are 7 business units and you are using the DEA to compare them. You solve the LP for
business unit 2. You find from the constraint expression that business unit 3 has obtained an
efficiency of 1 and business unit 6 has obtained an efficiency of 1 with the optimal weights of

business unit 2. Which of the following statements is correct?

Options :

6406531885664. # Business unit 3 may be inefficient
6406531885665. ¥ Business unit 3 will be efficient
6406531885666. * Business unit 7 may be inefficient

6406531885667. ¥ Business unit 6 will be efficient

Question Number : 354 Question Id : 640653564103 Question Type : MSQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 2 Selectable Option: 0
Question Label : Multiple Select Question

What kind of data is unsuitable for performing the conjoint analysis using the Linear Programming

Approach?

Options :

6406531885674. ¥ Consumer Choice Data is Ratings
6406531885675. # Consumer Choice Data is Pairwise Comparison
6406531885676. # Values of the attributes are continuous

6406531885677. ¥ Values of the product attributes are categorical

Sub-Section Number : 6
Sub-Section Id : 64065380437
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 355 Question Id : 640653564082 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 2
Question Label : Short Answer Question

A multiple linear regression model that uses Price, quantity and rating score is built to predict the
sales in a company. In the multiple linear regression, it is found that the direct effect of price on
sales is 0.3, the direct effect of quantity on sales is 0.2 and the direct effect of rating score on sales
is 0.4. Moreover, it is known that the effect of price on quantity is 0.2, and the effect of price on

rating score is 0.1. Then what is the total effect of price on sales?
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



0.4 to 0.44

Question Number : 356 Question Id : 640653564102 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2

Question Label : Short Answer Question

There are 6 business units. There are two outputs and one input under consideration. You are
solving the optimization problem for business unit 4 and find that the efficiency is 0.8. You find
that the dual variables corresponding to the constraints of business units 3 and 5 are non-zero
and the dual variables corresponding to the constraints of other units are zero. The dual variables
corresponding to the constraints of business units 3 and 5 are 0.3 and 0.5 respectively. You are

given the following table where sales and number of leads are the two outputs. What is the No. of

leads in HCU 4?

Sales MNo. of leads
DMU 3 12000 12
DMU 5 2000 10

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

13to 14

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Id : 640653564070 Question Type : COMPREHENSION Sub Question Shuffling

64065380438



Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (357 to 359)
Question Label : Comprehension

For the figure given below, answer the subquestions.

P, P* P Price

Sub questions

Question Number : 357 Question Id : 640653564071 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1

Question Label : Multiple Choice Question

What does region “A” represent?

Options :

6406531885615. # Market Size
6406531885616. ¥ Latent demand
6406531885617. # Consumer Surplus

6406531885618. ¥ None of these



Question Number : 358 Question Id : 640653564072 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

What does region “B” represent?

Options :

6406531885619. # Market Size
6406531885620. * Latent demand
6406531885621. ¥ Consumer Surplus

6406531885622. # None of these

Question Number : 359 Question Id : 640653564073 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 2
Question Label : Short Answer Question

Say the curve in the figure is modelled as a constant elasticity curve. If Qq is 2400, Q3 is 1500, Pq is

100 and P3 is 200, then what is the elasticity of the curve?

NOTE: If your answer is in decimal, enter it rounded to two decimal places. For example, if your

answer is “10.256", enter it as “10.26"
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
2.28 to0 2.36

Sub-Section Number : 8



Sub-Section Id : 64065380439
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 640653564089 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (360 to 366)
Question Label : Comprehension

A logistic regression model is fit to predict if a student will fail the BA course (Y=0 pass, Y=1 fail).

The results of the fitted model are given in the table below. Then answer the given subquestions.

(Note: For all questions in this comprehension, enter the answer as a numeric percentage value rounded
to two decimal places without the % symbol. For example, if your answer is “10.256 %", enter it as

“10.26")

Student ID | Actual “Pass” or “Fail” | Probability of Passing based on the logistic model
ABC101 Fail 0.79
ABC102 Pass 0.72
ABC103 Fail 0.45
ABC104 Fail 0.47
ABC105 Fail 0.73
ABC106 Pass 0.78

Sub questions

Question Number : 360 Question Id : 640653564090 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
Question Label : Short Answer Question

Considering a threshold of 0.7, how many “True Positives” are present in the confusion matrix if

the aim is to predict if a student will pass the course?

NOTE: Enter the answer as a numeric percentage value rounded to the nearest integer without

the % symbol.



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

2

Question Number : 361 Question Id : 640653564091 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1
Question Label : Short Answer Question

Considering a threshold of 0.7, how many “False Positives” are present in the confusion matrix if

the aim is to predict if a student will fail the course?

NOTE: Enter the answer as a numeric percentage value rounded to the nearest integer without

the % symbol.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

2

Question Number : 362 Question Id : 640653564092 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1
Question Label : Short Answer Question

Considering a threshold of 0.7, how many “False Negatives” are present in the confusion matrix if

the aim is to predict if a student will fail the course?



NOTE: Enter the answer as a numeric percentage value rounded to the nearest integer without

the % symbol.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

2

Question Number : 363 Question Id : 640653564093 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
Question Label : Short Answer Question

Considering a threshold of 0.7, how many “True Negatives” are present in the confusion matrix if

the aim is to predict if a student will pass the course?

NOTE: Enter the answer as a numeric percentage value rounded to the nearest integer without

the % symbol.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

0

Question Number : 364 Question Id : 640653564094 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1



Question Label : Short Answer Question

What is the accuracy of the built logistic model for predicting if a student will fail the course if a

threshold of 0.7 is taken?

NOTE: Enter the answer as a numeric percentage value rounded to two decimal places without the

% symbol. For example, if your answer is “10.256 %", enter it as “10.26"
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

33.00 to 34.00

Question Number : 365 Question Id : 640653564095 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1
Question Label : Short Answer Question

What is the precision of the built logistic model for predicting if a student will pass the course if a

threshold of 0.7 is taken?

NOTE: Enter the answer as a numeric percentage value rounded to the nearest integer without

the % symbol.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

0



Question Number : 366 Question Id : 640653564096 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1
Question Label : Short Answer Question

What is the recall of the built logistic model for predicting if a student will fail the course if a

threshold of 0.7 is taken?

NOTE: Enter the answer as a numeric percentage value rounded to two decimal places without the

% symbol. For example, if your answer is “10.256 %", enter it as “10.26"
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

50.00 to 50.50

Sub-Section Number : 9
Sub-Section Id : 64065380440
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 640653564074 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (367 to 373)
Question Label : Comprehension

Given the regression model (from excel) for predicting sales given price and income, answer the

given subquestions



Regression Statistics

Multiple R 0156176746
R Square 0.024391176
Adjusted R Square  -0.090386333
Standard Errar 6212632834
Observations 20
ANOVA
df 55 MS F Significance F
Regression Al 1640428549  8.202143 A5 0.810665095
Residual A2 656.1457145 Ad
Total A3 Ab

Coefficients ~ Standord Error ¢ Stat Pvalue  lower95%  Upper95%  Lower95.0% Upper95.0%

Intercept 258455249 9.257705483  6.032372 135605 3631387366 7537797614 3631387366 7537797614
Price 0.198655711 0407861203  0.487067  0.632432 -0.661856209 1059167631 -0.661856209 1.059167631
Income 0.004272622 0.006852513 0.623511 0541225 -0.010184923 0.018730174 -0.01018432% 0.018730174

Sub questions

Question Number : 367 Question Id : 640653564075 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1
Question Label : Short Answer Question

What is the value for “A1"?

NOTE: Enter your answer to the nearest integer.
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

2

Question Number : 368 Question Id : 640653564076 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Question Label : Short Answer Question



What is the value for “A2"?

NOTE: Enter your answer to the nearest integer.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

17

Question Number : 369 Question Id : 640653564077 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
Question Label : Short Answer Question

What is the value for “A3"?

NOTE: Enter your answer to the nearest integer.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

19

Question Number : 370 Question Id : 640653564078 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1
Question Label : Short Answer Question

What is the value for “A4"?



NOTE: If your answer is in decimal, enter it rounded to two decimal places. For example, if your

answer is “10.256", enter it as “10.26"
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

36.00 to 40.00

Question Number : 371 Question Id : 640653564079 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
Question Label : Short Answer Question

What is the value for “A5"?

NOTE: If your answer is in decimal, enter it rounded to two decimal places. For example, if your

answer is “10.256", enter it as “10.26"
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

0.10 to 0.30

Question Number : 372 Question Id : 640653564080 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1

Question Label : Short Answer Question



What is the value for “A6"?

NOTE: If your answer is in decimal, enter it rounded to two decimal places. For example, if your

answer is “10.256", enter it as “10.26"
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

67210 673

Question Number : 373 Question Id : 640653564081 Question Type : MSQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 2 Selectable Option: 0

Question Label : Multiple Select Question

Which of the following inferences is/are correct? (Choose all that are applicable)

Options :

6406531885630. * The model is significant

6406531885631. ¥ The model is insignificant

6406531885632. # The intercept is insignificant
6406531885633. + The intercept is significant

6406531885634. * Price, the dependent variable, is insignificant
6406531885635. # Price, the dependent variable, is significant

6406531885636. # None of these

Question Id : 640653564083 Question Type : COMPREHENSION Sub Question Shuffling



Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (374 to 378)
Question Label : Comprehension

The owner of a cycle shop is curious to know about his customer base. Hence, he collects data on
the total sales made to different age groups in the year 2022. This data is given in the table below.

He hires you as a data analyst and asks for your opinion. Then answer the given subquestions.

] Actual number of cycles
Age group sold

less than 10 years 30
11 to 15 years 50

16 to 20 years 90

21 to 24 vears 40

25 to 30 vears 12

31 to 40 vears 25
oreater than 41 years 12

Sub questions

Question Number : 374 Question Id : 640653564084 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 2
Question Label : Short Answer Question

Based on the given table, you think the data is normally distributed such that the buckets split
the distribution into areas that have equal probability. Then what is the probability of selling a

cycle in any given bucket?

NOTE: If your answer is in decimal, enter it rounded to two decimal places. For example, if your

answer is “10.256", enter it as “10.26"
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

0.13t0 0.15

Question Number : 375 Question Id : 640653564085 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 2
Question Label : Short Answer Question

Based on the given table, you think the data is normally distributed such that the buckets split
the distribution into areas that have equal probability. Then what is the expected number of cycles

that will be sold to the age group of “25 to 30 years™?

NOTE: If your answer is in decimal, enter it rounded to two decimal places. For example, if your

answer is “10.256", enter it as “10.26"
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

36 to 38

Question Number : 376 Question Id : 640653564086 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 2
Question Label : Short Answer Question

What is the value of the computed test statistic?

NOTE: If your answer is in decimal, enter it rounded to two decimal places. For example, if your

answer is “10.256", enter it as “10.26"
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

144 to 148

Question Number : 377 Question Id : 640653564087 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1
Question Label : Short Answer Question

How many degrees of freedom does the test have?

NOTE: Enter your answer to the nearest integer.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

7

Question Number : 378 Question Id : 640653564088 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1

Question Label : Multiple Choice Question

Given that the “Null Hypothesis” is rejected at the significance level of 0.5, then what will be the

conclusion at a significance level of 0.1?

Options :

6406531885642. * Cannot say, insufficient data



6406531885643. ¥ Null Hypothesis is rejected

6406531885644. * Null Hypothesis is not rejected

AppDev2
SectionId: 64065338331
Section Number : 14
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 33
Number of Questions to be attempted : 33
Section Marks : 100
Display Number Panel : Yes
Group All Questions : No
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 64065380441
Question Shuffling Allowed : No
Is Section Default? : null

Question Number : 379 Question Id : 640653564104 Question Type : MCQ Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 0

Question Label : Multiple Choice Question

THIS IS QUESTION PAPER FOR THE SUBJECT "DIPLOMA LEVEL : MODERN APPLICATION
DEVELOPMENT 2 (COMPUTER BASED EXAM)"



